



Leading Cause of Death in Pediatric Intensive Care Unit (PICU): A Single-Center Study from Southern Iran

Maryam Mohammadian Hakami ¹, Samira Zakeri Shahvari ^{2,*}, Sadegh Ghaibollahi ³,
Fatemeh Arjmand ⁴

¹ Department of Pediatric Infectious Diseases, Children's Clinical Research Development Center, Hormozgan University of Medical Sciences, Bandar Abbas, Iran

² Department of Pediatric, Clinical Research Development Center of Children Hospital, Hormozgan University of Medical Sciences, Bandar Abbas, Iran

³ Student Research Committee, Faculty of Medicine, Hormozgan University of Medical Sciences, Bandar Abbas, Iran

⁴ Clinical Research Development Center of Children Hospital, Hormozgan University of Medical Sciences, Bandar Abbas, Iran

*Corresponding Author: Department of Pediatric, Clinical Research Development Center of Children Hospital, Hormozgan University of Medical Sciences, Bandar Abbas, Iran. Email: samirashahvari@gmail.com

Received: 26 November, 2024; Revised: 28 June, 2025; Accepted: 3 August, 2025

Abstract

Background: Pediatric in-hospital mortality is a key indicator of healthcare quality, particularly in pediatric intensive care units (PICUs), where critically ill children receive specialized care. Understanding the documented leading cause of death is crucial for improving patient outcomes and guiding healthcare interventions. This study examined the medical diagnoses recorded at the time of death among pediatric patients in the PICU of Bandar Abbas Children's Hospital.

Objectives: This study aimed to analyze the documented leading cause of death and the demographic characteristics of deceased patients in the PICU of Bandar Abbas Children's Hospital over one year. Additionally, it evaluated the impact of seasonal variations and PICU length of stay on mortality patterns.

Methods: A retrospective analysis was conducted from April 2023 to March 2024, reviewing medical records of all patients aged 28 days to under 18 years who died in the PICU. Collected data included age, gender, underlying conditions, final medical diagnoses, and PICU stay duration. Statistical analyses, including chi-square and *t*-tests, were performed using SPSS version 21.

Results: The mortality rate was 60.4%, with 125 deaths among 207 admitted patients. Of the deceased patients, 52% were female and 48% male, with the highest mortality observed in children under one year old (38.4%). The most frequently documented leading causes of death included infectious diseases (41.3%), neurological conditions, and cases classified as unknown etiology due to incomplete diagnostic data. Most deaths (55.2%) occurred within the first week of PICU admission. Although winter had the highest mortality rate (36.8%), seasonal differences were not statistically significant. Gender differences in mortality patterns were also non-significant ($P > 0.05$).

Conclusions: The most commonly recorded leading causes of death in the PICU were infections, followed by neurological conditions and cases of unknown etiology. The study highlights the need for improved diagnostic accuracy, better documentation practices, and timely interventions, particularly for younger children and those at higher risk of early mortality. Future research should incorporate detailed cause-of-death classifications to enhance understanding and improve PICU outcomes.

Keywords: Pediatric, Pediatric Intensive Care Unit, PICU, Mortality Rate

1. Background

In-hospital mortality rate among hospitalized children is a significant indicator that, alongside the primary measure of under-five child mortality (1), serves

as a crucial tool for healthcare planning and management in any country. Moreover, analyzing in-hospital mortality can help assess healthcare quality and monitor mortality trends. Although hospital-based mortality reviews may not fully reflect all causes of

Copyright © 2025, Mohammadian Hakami et al. This open-access article is available under the Creative Commons Attribution 4.0 (CC BY 4.0) International License (<https://creativecommons.org/licenses/by/4.0/>), which allows for unrestricted use, distribution, and reproduction in any medium, provided that the original work is properly cited.

How to Cite: Mohammadian Hakami M, Zakeri Shahvari S, Ghaibollahi S, Arjmand F. Leading Cause of Death in Pediatric Intensive Care Unit (PICU): A Single-Center Study from Southern Iran. Inn J Pediatr. 2025; 35 (4): e158301. <https://doi.org/10.5812/ijpediatr-158301>.

death within the general population, they provide a valuable opportunity to investigate the immediate and underlying causes of mortality in healthcare settings (2). By analyzing these assessments, high-risk patients can be identified and better managed. According to the World Health Organization, investigating hospital mortality can significantly enhance clinical performance and improve survival rates of hospitalized patients (3). Numerous studies have been conducted worldwide, particularly among children, reporting varied results (4-7). Several studies have also been conducted in Iran. According to existing research, 80% of hospital mortality occurs in the under-five age group (8, 9). Various social and economic factors influence the hospital mortality rate in any society. A precise depiction of in-hospital mortality can significantly aid in identifying the causes of these deaths, pinpointing preventable factors, and designing effective interventions to avert similar fatalities. The pediatric intensive care unit (PICU), equipped with specialized facilities and instruments, is designed to treat critically ill children rapidly. However, due to the limited availability of dedicated pediatric ICUs in general teaching hospitals, many children are admitted to adult ICUs. The PICU admission aims to monitor, support, and maintain vital system capacities in infants and children, which requires skilled personnel and appropriate equipment (10). Many of these patients require intensive care, including mechanical ventilation. Consequently, caring for these patients imposes significant financial burdens on families and society (11, 12). The duration of PICU admission varies depending on the underlying condition (13). Mortality and complications are more prevalent among patients with extended hospital stays and severe illnesses compared to those with shorter admissions (14). Previous findings have shown that the limitation or withdrawal of life-sustaining treatment in PICU contributes to mortality rates ranging from 14% to 75% (15, 16).

2. Objectives

This study aimed to investigate the documented leading cause of death and the most common causes of mortality among patients admitted to the PICU of Bandar Abbas Children's Hospital during 2023.

3. Methods

3.1. Study Design

This research utilized a retrospective study design to analyze mortality cases over a one-year period in the PICU at Bandar Abbas Children's Hospital. The study

period spanned from April 2023 to March 2024, encompassing all cases of patient mortality that occurred within the specified timeframe.

3.2. Data Collection

Medical records of all deceased patients admitted to the PICU during the study period were meticulously reviewed and retrieved. A pre-designed checklist was employed to systematically collect key information, including patient age, sex, underlying medical conditions at the time of death, length of hospital stay, and duration of stay in the PICU. Cases with incomplete or missing records were excluded from the study to ensure data integrity. The inclusion criteria for this research encompassed all deceased patients aged 28 days to less than 18 years admitted to the PICU during the specified one-year period.

3.3. Statistical Analysis

Data analysis was conducted using SPSS software version 21. Descriptive statistics were used to summarize demographic and clinical characteristics. Continuous variables, such as age and hospital or PICU stay duration, were reported as mean values with standard deviations. Categorical variables, including sex and leading cause of death, were expressed as frequencies and percentages. The *t*-test or an appropriate non-parametric equivalent was applied for inferential analysis to compare continuous variables based on their distribution. The chi-square test was used to examine associations between categorical variables. Additionally, the seasonal distribution of mortality cases was analyzed by categorizing the data into four groups corresponding to the four seasons.

4. Results

The mortality rate in the PICU was calculated to be approximately 60.4%, with a total of 125 deaths recorded among 207 admissions. Out of all cases, 65 (52%) were female and 60 (48%) were male. Age distribution of the cases was categorized as follows: Under one year (48 cases, 38.4%), 1 to 5 years (38 cases, 30.4%), 5 to 10 years (28 cases, 22.4%), and over ten years (11 cases, 8.8%). Furthermore, the distribution of mortality based on seasonal occurrence was reported as follows: Spring (31 cases, 24.8%), summer (18 cases, 14.4%), autumn (30 cases, 24%), and winter (46 cases, 36.8%) (Table 1).

The average length of hospital stay was 7.35 ± 8.34 days (ranging from 0 to 58 days), while the average length of stay in the PICU was 5.48 ± 6.20 days (ranging from 0 to 41 days). The leading causes of mortality

Table 1. Study Findings Based on Age, Gender, and Season ^a

Variables	Values
Gender	
Boy	60 (48.0)
Girl	65 (52.0)
Age (y)	
Less than 1	48 (38.4)
1 to 5	38 (30.4)
5 to 10	28 (22.4)
More than 10	11 (8.8)
Season	
Spring	31 (24.8)
Summer	18 (14.4)
Autumn	30 (24.0)
Winter	46 (36.8)
Total	125

^a Values are expressed as No. (%).

among children admitted to the PICU were as follows: Infections (52 cases, 41.3%), other and unknown causes (30 cases, 23.8%), neurological diseases (9 cases, 7.1%), respiratory diseases (8 cases, 6.3%), malignancies (7 cases, 5.6%), cardiovascular diseases (7 cases, 5.6%), renal diseases (5 cases, 4%), gastrointestinal diseases (4 cases, 3.2%), congenital and chromosomal abnormalities (2 cases, 1.6%), and endocrine diseases (1 case, 0.8%) (Table 2). The most common leading cause of mortality for both genders was infections, with 20 cases (16%) among males and 32 cases (25.6%) among females. According to the χ^2 test, no significant difference was found between the leading cause of mortality and gender ($P = 0.181$).

Infections were the predominant cause of mortality, affecting all age groups. Notably, there were no statistically significant differences across the age groups ($P = 0.323$; Table 3).

Mortality (55.2%, 69 cases) occurred in children with a PICU stay of 1 - 7 days. For stays under 24 hours, deaths were mainly due to unspecified causes and infections. The leading cause of mortality significantly varied with the duration of PICU stay ($P = 0.014$; Table 4).

The highest mortality occurred in winter. Infections were the leading cause of death in all seasons. There was no statistically significant difference in the leading cause of mortality across the seasons ($P = 0.404$; Table 5).

5. Discussion

This study was carried out with the belief that understanding the leading causes of death is the first step in reducing mortality rates. Similar studies have

been conducted around the world and should continue regularly, as outcomes can differ across regions and years. By examining these differences, we can better address preventable and avoidable deaths. In this research, we looked at the most common causes of death among children in the PICU at Bandar Abbas Children's Hospital in 2023. The PICU mortality rate, which was about 60.4%, highlights the urgent need for focused interventions. We found that mortality was higher among girls, most common in children under one year of age, and more frequent during the colder months. Infections were the primary documented cause of death, followed by unspecified causes and neurological conditions.

Hashemian et al. (17) reported higher mortality in boys, with pneumonia, sepsis, liver failure, and malignancies as the leading causes. While our findings align regarding infections as the leading cause, they differ in gender-related mortality, with our study showing higher rates in girls. Another retrospective study in Kermanshah (18) found a mean age of 13 months, a higher mortality rate among boys, and respiratory diseases as the main causes. Our study contradicts these findings regarding gender and leading causes but aligns with the young age of most fatalities. Bilan et al. (19) found congenital heart disease, malignancies, and other congenital anomalies as the top causes of mortality over five years, with boys more affected than girls and the highest death rate in children under one year. This aligns with our findings concerning age but not gender or causes of death. In Nigeria, a five-month study reported 8.5% PICU mortality,

Table 2. Frequency Distribution and Percentage of Hospital Mortality by Leading Cause of Death, Separated by Gender^a

Diagnoses	Gender			P-Value ^b
	Boy	Girl	Total	
Infections	20 (16.0)	32 (25.6)	52 (41.3)	0.321
Other and unknown	17 (13.6)	13 (10.4)	30 (23.8)	0.453
Neurological diseases	5 (4.0)	4 (3.2)	9 (7.1)	0.512
Respiratory diseases	5 (4.0)	3 (2.4)	8 (6.3)	0.278
Malignancies	4 (3.2)	3 (2.4)	7 (5.6)	0.642
Cardiovascular diseases	3 (2.4)	4 (3.2)	7 (5.6)	0.524
Kidney diseases	3 (2.4)	2 (1.6)	5 (4.0)	0.611
Gastrointestinal diseases	3 (2.4)	1 (0.8)	4 (3.2)	0.436
Congenital anomalies	0 (0.0)	2 (1.6)	2 (1.6)	0.728
Endocrine diseases	0 (0.0)	1 (0.8)	1 (0.8)	0.829
Total	60 (48.0)	65 (52.0)	125 (100)	0.118

^a Values are expressed as No. (%).

^b χ^2 test.

Table 3. Frequency Distribution and Percentage of Hospital Mortality by Leading Cause of Death, Separated by Age Group^a

Diagnoses	Age (y)				P-Value ^b
	Under 1	1 to 5	5 to 10	Above 10	
Infections	20 (16.0)	13 (10.4)	12 (9.6)	7 (5.6)	0.263
Other and unknown	11 (8.8)	10 (8.0)	8 (6.4)	1 (0.8)	0.432
Neurological diseases	4 (3.2)	0 (0.0)	3 (2.4)	2 (1.6)	0.541
Respiratory diseases	4 (3.2)	3 (2.4)	1 (0.8)	0 (0.0)	0.389
Malignancies	0 (0.0)	2 (1.6)	3 (2.4)	2 (1.6)	0.510
Cardiovascular diseases	3 (2.4)	1 (0.8)	0 (0.0)	2 (1.6)	0.601
Kidney diseases	0 (0.0)	1 (0.8)	2 (1.6)	2 (1.6)	0.470
Gastrointestinal diseases	3 (2.4)	1 (0.8)	0 (0.0)	0 (0.0)	0.354
Congenital anomalies	1 (0.8)	1 (0.8)	0 (0.0)	0 (0.0)	0.625
Endocrine diseases	0 (0.0)	1 (0.8)	0 (0.0)	0 (0.0)	0.480
Total	47 (37.6)	33 (26.4)	29 (23.2)	16 (12.8)	0.323

^a Values are expressed as No. (%).

^b χ^2 test.

higher among girls and children under one year (8), consistent with our results. In India, Patil and Godale (9) showed mortality higher in girls, with sepsis being a primary cause for those over one year, matching our findings. However, another Indian study reported higher mortality in boys, with similar causes to ours (4). A different Indian study by Deenadayalan (5) noted higher mortality in girls, with infections (sepsis, acute respiratory infections, and meningitis) and congenital heart disease as significant causes. They also reported a spike in summer deaths due to seasonal rains and snakebites, with most deaths occurring within the first 24 hours of admission, attributed to referral delays and delayed hospital interventions. Our study concurs on

causes and gender but differs in seasonal mortality, with 24% of deaths occurring in the first 24 hours of admission.

Bohn et al. (6) noted pneumonia as a significant cause of mortality in Ethiopia. Variations in study type, hospital setting, and population demographics can explain differences in outcomes across regions. Still, pneumonia remains a critical cause of in-hospital mortality worldwide (20, 21). A study in China reported pneumonia, sepsis, and tumors as the leading causes, with higher mortality among girls, aligning with our results. They also noted that younger children were more susceptible to infectious diseases (7).

Table 4. Frequency Distribution and Percentage of Hospital Mortality by Duration of Stay in Pediatric Intensive Care Unit, Separated by Leading Cause of Death ^a

Diagnoses	Duration of Stay in PICU (d)				P-Value ^b
	Under 1	1 to 7	7 to 14	Above 14	
Infections	5 (4.0)	32 (25.6)	9 (7.2)	6 (4.8)	0.028
Other and unknown	20 (16.0)	10 (8.0)	0 (0.0)	0 (0.0)	< 0.001
Neurological diseases	1 (0.8)	6 (4.8)	0 (0.0)	2 (1.6)	0.291
Respiratory diseases	0 (0.0)	3 (2.4)	3 (2.4)	2 (1.6)	0.092
Malignancies	2 (1.6)	4 (3.2)	0 (0.0)	1 (0.8)	0.768
Cardiovascular diseases	0 (0.0)	7 (5.6)	0 (0.0)	0 (0.0)	0.142
Kidney diseases	1 (0.8)	2 (1.6)	2 (1.6)	0 (0.0)	0.269
Gastrointestinal diseases	1 (0.8)	3 (2.4)	0 (0.0)	0 (0.0)	0.773
Congenital anomalies	0 (0.0)	1 (0.8)	1 (0.8)	0 (0.0)	0.381
Endocrine diseases	0 (0.0)	1 (0.8)	0 (0.0)	0 (0.0)	0.845
Total	30 (24.0)	69 (55.2)	15 (12.0)	11 (8.8)	0.014

Abbreviation: PICU, pediatric intensive care unit.

^a Values are expressed as No. (%).^b χ^2 test.**Table 5.** Frequency Distribution and Percentage of Mortality by Leading Cause of Death, Separated by Season ^a

Diagnoses	Season				P-Value ^b
	Spring	Summer	Autumn	Winter	
Infections	12 (9.6)	6 (4.8)	13 (10.4)	21 (16.8)	0.527
Other and unknown	9 (7.2)	4 (3.2)	10 (8.0)	7 (5.6)	0.392
Neurological diseases	3 (2.4)	1 (0.8)	0 (0.0)	5 (4.0)	0.483
Respiratory diseases	2 (1.6)	1 (0.8)	1 (0.8)	4 (3.2)	0.624
Malignancies	1 (0.8)	2 (1.6)	3 (2.4)	1 (0.8)	0.348
Cardiovascular diseases	1 (0.8)	2 (1.6)	0 (0.0)	4 (3.2)	0.510
Kidney diseases	2 (1.6)	1 (0.8)	2 (1.6)	0 (0.0)	0.405
Gastrointestinal diseases	0 (0.0)	0 (0.0)	1 (0.8)	3 (2.4)	0.366
Congenital anomalies	1 (0.8)	0 (0.0)	0 (0.0)	1 (0.8)	0.573
Endocrine diseases	0 (0.0)	1 (0.8)	0 (0.0)	0 (0.0)	0.481
Total	31 (24.8)	18 (14.4)	30 (24.0)	46 (36.8)	0.404

^a Values are expressed as No. (%).^b χ^2 test.

Daher et al. (22) reported a mean age of 24 months, with 52% being male. The mortality rate was 6.7%, with most deaths occurring in younger patients. Respiratory failure was the cause of death (34%), followed by cardiac diseases (20%) and gastrointestinal diseases (19%). Ayar et al. (23) reported a mortality rate of 18.06%, and found that age, gender, and length of stay did not show significant differences. Conditions such as hematologic diseases, immune deficiencies, and sepsis were prominent and associated with mortality. Al-Eyadhy et al. (24) reported a mortality rate of 4.4%, with the mean age 49.9 months. The most common causes of death were sepsis (30.7%), lower respiratory infections (18.8%),

and cardiovascular causes (11.9%). Gundogdu et al. (25) reported a mortality rate of 13.4%, with 57.9% of patients being female. The mean PICU stay duration was 5.5 days. Bae et al. (26) found no significant differences in age or sex but noted a higher prevalence of gastrointestinal tract diseases. The PICU mortality rate was 11%, and the pathogen infection rate was 34% in the PICU. Hajidavalu and Sadeghizadeh (27) found that 56.9% of patients were male, with a mean age of 51.8 months. The leading causes for hospitalization were status epilepticus (12.9%) and pneumonia (11.6%), with a mortality rate of 12.2%. The average length of stay in the PICU was 10.8 days. Additionally, the length of stay in the hospital and PICU

did not correlate with mortality rates. Seifu et al. (28) found that 54.6% of patients were male, with most staying in the PICU for 1 - 7 days. The mortality rate was 43.8%, with shorter stays having higher mortality odds.

Our study consistently found infections to be the top cause across all age groups. Given the role of infections as the leading documented medical diagnosis at the time of death at our center, highlighted by the significant mortality rate of 60.4%, epidemiological and interventional studies are necessary to improve diagnosis and treatment. It is important to note that in several cases, particularly among patients with underlying malignancies, the immediate cause of death was an acute infection (e.g., sepsis or pneumonia); however, the predisposing factor was the chronic condition itself. Immunosuppressive states induced by chemotherapy or the disease process inherently compromised the host's immune defense, thereby increasing susceptibility to severe infections. This underscores the complex interplay between chronic comorbidities and infectious mortality in pediatric intensive care settings, suggesting that addressing these conditions and reducing infection-related deaths could significantly lower mortality rates in this group.

The primary limitations of this study are its restriction to a single hospital and the inability to generalize its findings to other regions or populations. Our study lacked data on socioeconomic status and perinatal factors, which could have enriched the analysis of risk factors for pediatric hospital mortality. Furthermore, we did not explore the full impact of seasonal variations in depth. While our study noted some seasonal differences in mortality, the specific factors contributing to higher mortality in winter months (such as increased cases of infections related to seasonal changes, such as respiratory infections) were not fully examined. Moreover, due to the retrospective nature of the study and reliance on routine medical records, critical variables such as referral delays, pre-PICU stabilization efforts, and socioeconomic status were not available. Additionally, many critically ill patients were directly admitted to the PICU without prior stabilization, and emergency interventions were initiated after admission, which may have influenced the observed outcomes.

5.1. Conclusions

The mortality rate in the PICU was calculated to be approximately 60.4%, and the highest incidence of hospital mortality was observed in children admitted to the PICU at less than one year of age, with the most significant mortality rates occurring within the first one

to seven days of PICU hospitalization. The most prevalent leading causes of death among these patients included infections, unknown etiologies, and neurological diseases. Additionally, the relative frequency of hospital mortality was higher in girls and occurred more frequently in the colder seasons.

Footnotes

Authors' Contribution: M. M. H. and S. Z. S. conceived and designed the study, collected the clinical data, interpreted the results, and drafted the manuscript. S. Z. S. and S. G. participated in designing the study, supervised data collection, and critically revised the manuscript for important intellectual content. S. Z. S. contributed to data acquisition, assisted in drafting the manuscript, and provided administrative and technical support. F. A. performed the statistical analysis, interpreted the data, and revised the manuscript. All authors read and approved the final manuscript.

Conflict of Interests Statement: The authors declare no conflict of interest.

Data Availability: The datasets are available from the corresponding author upon reasonable request.

Ethical Approval: This study was approved by the Institutional Review Board (IRB) of Hormozgan University of Medical Sciences, under the ethics code: [IR.HUMS.REC.1403.087](#).

Funding/Support: The study received no funding/support.

References

1. G. B. D. Child Mortality Collaborators. Global, regional, national, and selected subnational levels of stillbirths, neonatal, infant, and under-5 mortality, 1980-2015: a systematic analysis for the Global Burden of Disease Study 2015. *Lancet*. 2016;**388**(10053):1725-74. [PubMed ID: [27733285](#)]. [PubMed Central ID: [PMC5224696](#)]. [https://doi.org/10.1016/S0140-6736\(16\)31575-6](https://doi.org/10.1016/S0140-6736(16)31575-6).
2. Bathaei SA, Asayesh H. Medical students' awareness of patients' rights in Qom university of medical sciences and health services (2010). *Iranian J Med Edu*. 2012;**12**(5):347-55.
3. Rao C, Adair T, Kinfu Y. Using historical vital statistics to predict the distribution of under-five mortality by cause. *Clin Med Res*. 2011;**9**(2):66-74. [PubMed ID: [20974886](#)]. [PubMed Central ID: [PMC3134441](#)]. <https://doi.org/10.3121/cmr.2010.959>.
4. Panyang Katak R, Gogoi A, Jyoti Bora C, Dowerah P, Baruah M. Mortality Pattern of Hospitalized Children in a Referral Hospital from Upper Assam, North East India: A Record Based Retrospective Analysis. *Journal of Evolution of Medical and Dental Sciences*. 2016;**5**(31):1622-5. <https://doi.org/10.14260/jemds/2016/382>.
5. Deenadayalan DD. Mortality Pattern among Hospitalized Children (29 Days to 12 Years) At a Tertiary Care Hospital in South India. *J Med*

- Sci Clinical Res. 2017;5(3):19362-8. <https://doi.org/10.18535/jmscr/v5i3.164>.
6. Bohn JA, Kassaye BM, Record D, Chou BC, Kraft IL, Purdy JC, et al. Demographic and mortality analysis of hospitalized children at a referral hospital in Addis Ababa, Ethiopia. *BMC Pediatr*. 2016;16(1):168. [PubMed ID: 27765020]. [PubMed Central ID: PMC5073447]. <https://doi.org/10.1186/s12887-016-0709-4>.
 7. Zhu Y, Zhu X, Deng M, Wei H, Zhang M. Causes of death in hospitalized children younger than 12 years of age in a Chinese hospital: a 10 year study. *BMC Pediatr*. 2018;18(1):8. [PubMed ID: 29347924]. [PubMed Central ID: PMC5773040]. <https://doi.org/10.1186/s12887-017-0981-y>.
 8. Okposio M. Sociodemographic Determinants of Mortality in Hospitalized Under-Five Children at a Secondary Health Care Centre in the Niger Delta. *Int J Tropical Disease Health*. 2014;2(3):173-81. <https://doi.org/10.9734/ijtdh/2012/1491>.
 9. Patil SW, Godale LB. Mortality pattern of hospitalized children in a tertiary care hospital in Latur: a record based retrospective analysis. *Natl J Community Med*. 2013;4(1):96-9.
 10. Morton NS. *Paediatric intensive care*. 1st ed. Oxford, United States: Oxford University Press; 1997. <https://doi.org/10.1093/oso/9780192625113.001.0001>.
 11. Slonim AD, Marcin JP, Pollack MM. Long-stay patients: are there any long-term solutions? *Crit Care Med*. 2003;31(1):313-4. [PubMed ID: 12545038]. <https://doi.org/10.1097/00003246-200301000-00053>.
 12. Marcin JP, Slonim AD, Pollack MM, Ruttimann UE. Long-stay patients in the pediatric intensive care unit. *Crit Care Med*. 2001;29(3):652-7. [PubMed ID: 11373438]. <https://doi.org/10.1097/00003246-200103000-00035>.
 13. Friedrich JO, Adhikari NK, Meade MO. Drotrecogin alfa (activated): does current evidence support treatment for any patients with severe sepsis? *Crit Care*. 2006;10(3):145. [PubMed ID: 16762040]. [PubMed Central ID: PMC1550958]. <https://doi.org/10.1186/cc4947>.
 14. Kanter RK, Bove EL, Tobin JR, Zimmerman JJ. Prolonged mechanical ventilation of infants after open heart surgery. *Crit Care Med*. 1986;14(3):211-4. [PubMed ID: 3943337]. <https://doi.org/10.1097/00003246-198603000-00009>.
 15. Hazebroek FW, Tibboel D, Mourik M, Bos AP, Molenaar JC. Withholding and withdrawal of life support from surgical neonates with life-threatening congenital anomalies. *J Pediatr Surg*. 1993;28(9):1093-7. [PubMed ID: 8308667]. [https://doi.org/10.1016/0022-3468\(93\)90137-a](https://doi.org/10.1016/0022-3468(93)90137-a).
 16. Gill MB. PICU Prometheus: Ethical issues in the treatment of very sick children in paediatric intensive care. *Mortality*. 2005;10(4):262-75. <https://doi.org/10.1080/13576270500321746>.
 17. Hashemian H, Karambin MM, Bolokimoghdam C, Mirzazadeh M, Yahyapour R. [Causes of Death in Neonates and Children in 17-Shahrivar Training Hospital of Rasht]. *J Guilan Univ Med Sci*. 2014;23(90). FA.
 18. Izadi N, Shetabi HR, Bakhtiari S, Janatmakan M, Parabi M, Ahmadi K. [The rate and causes of infant mortality in the hospitals of Kermanshah province during 2011-2014]. *J Rafsanjan Univ Med Sci*. 2016;15(2):129-38. FA.
 19. Bilan N, Ebrahimi M, Ebadi Z, ABDINIA BABAK. Investigating the causes of death in children at Children's Hospital of Tabriz. *J Patient Safety & Quality Improv*. 2019;7(4):163-6.
 20. Wardlaw T, Salama P, Johansson EW, Mason E. Pneumonia: the leading killer of children. *Lancet*. 2006;368(9541):1048-50. [PubMed ID: 16997649]. [https://doi.org/10.1016/S0140-6736\(06\)69334-3](https://doi.org/10.1016/S0140-6736(06)69334-3).
 21. Rudan I, Chan KY, Zhang JS, Theodoratou E, Feng XL, Salomon JA, et al. Causes of deaths in children younger than 5 years in China in 2008. *Lancet*. 2010;375(9720):1083-9. [PubMed ID: 20346815]. [https://doi.org/10.1016/S0140-6736\(10\)60060-8](https://doi.org/10.1016/S0140-6736(10)60060-8).
 22. Daher AH, Al-Ammouri I, Ghanem N, Abu Zahra M, Al-Zayadneh E, Al-Iede M. All-cause mortality in a pediatric intensive care unit at a teaching hospital in Amman, Jordan. *Pediatr Int*. 2022;64(1). e14940. [PubMed ID: 34331816]. <https://doi.org/10.1111/ped.14940>.
 23. Ayar G, Uysal Yazici M, Sahin S, Gunduz RC, Yakut HI, Oden Akman A, et al. Six year mortality profile of a Pediatric Intensive Care Unit: association between out-of-hours and mortality. *Arch Argent Pediatr*. 2019;117(2):120-5. [PubMed ID: 30869485]. <https://doi.org/10.5546/aap.2019.eng.120>.
 24. Al-Eyadhy A, Temsah MH, Hasan GM, Almazyad M, Alhaboob AA, Alabdulhafid M, et al. Causes, timing, and modes of death in a tertiary pediatric intensive care unit: Five years' experience. *Saudi Med J*. 2021;42(11):1186-94. [PubMed ID: 34732550]. [PubMed Central ID: PMC9149741]. <https://doi.org/10.15537/smj.2021.42.11.20210508>.
 25. Gundogdu Z, Babaoglu K, Devci M, Tugral O, Zs U. A Study of Mortality in Cardiac Patients in a Pediatric Intensive Care Unit. *Cureus*. 2019;11(11). e6052. [PubMed ID: 31827987]. [PubMed Central ID: PMC6890153]. <https://doi.org/10.7759/cureus.6052>.
 26. Bae W, Kim B, Kim K, Lee H, Yoon J. 1434: Mortality of Children Treated in the Pediatric Intensive Care Unit and Other Intensive Care Units. *Critical Care Medicine*. 2019;47(1):693. <https://doi.org/10.1097/01.ccm.0000552178.26395.69>.
 27. Hajidavalu FS, Sadeghizadeh A. Mortality Rate and Risk Factors in Pediatric Intensive Care Unit of Imam Hossein Children's Hospital in Isfahan: A Prospective Cross-Sectional Study. *Adv Biomed Res*. 2023;12:92. [PubMed ID: 37288019]. [PubMed Central ID: PMC10241639]. https://doi.org/10.4103/abr.abr_371_21.
 28. Seifu A, Eshetu O, Tafesse D, Hailu S. Admission pattern, treatment outcomes, and associated factors for children admitted to pediatric intensive care unit of Tikur Anbessa specialized hospital, 2021: a retrospective cross-sectional study. *BMC Anesthesiol*. 2022;22(1):13. [PubMed ID: 34991462]. [PubMed Central ID: PMC8734244]. <https://doi.org/10.1186/s12871-021-01556-7>.